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Question 1. (6 marks)

(a) Determine for which values of x the function y = f(x) pictured above is not
continuous.

(b) For each of the x values found in (a) give the reason why the function is not
continuous using thethree conditions required for continuity.

Note that you must use proper notation and terminology in your justification
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Question 2. (5 marks)
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Find the equation of the line y = mx+ & pictured above. This line is perpendicular
to the tangent line to the function y = f(x) = cos(gx)atx=1.5
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Question 3. (4 marks)
Use the limit definition of the denvatwe to ﬁnd the derivative of the function

flx) = —252 4 3x. Note that no marks w111 be given if you do not use the limit
definition to evaluate the derivative. :
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Question 4. (I mark each)
Find the derivative of each of the following functions.

(@) f{x) =3xsinx

£ =Esmx + .CQOS)QSKJ

©FR)=2Fi-3 = 2% = 2%

Fleny = T pgx” =

(c) h(t) = tan(3¢)

ED! =!iec263t5 -3 ] |

(d) g(t) =]

3’&3 =

co%t

e Q—%imﬁ

(e) g(t) = In(5x* — 7x)

%’Cx)=____l____,(lox-¥)
B Fx




Question 5. (3 marks each)
Find the derivative of each of the following functions.
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Question 6. (2 marks each) _
Evaluate the following limits algebraically (not using a table of values).
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Question 7. (3 marks)
Find the value of the constant a if the slope of the tangent line to the curve

y = 2axe” at x = 0 is equal to 3.

\j’Frr y=0 18 3
E ¥ %
Y T 22" + € CZCL%) LSing prodvet role

AT =0 _j" = zo_e° 4 QQ(AZ&XO)

= 200
so 2o, =2
%




Question 8. (4 marks)

+-a
Find the following values corresponding to the graph of £(x) pictured above.
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